SARASAS AFFILIATED SCHOOL

Subject: Mathematics Grade 1 Liveworksheets

First Name: Last name: Grade No.

ACTIVITY: Word Problem

Direction: Choose and tick the correct answer.

Rey has 36 marbles.
Venz has 47 marbles.

How many marbles have they got altogether?

1. How many marbles does Rey have?

a. 47 b. 36 c.46

2. How many marbles does Venz have?

a. 36 b. 47 c. 46
3. How many marbles have they got altogether?

a.83 b. 82 c. 81
4. In the answer, what is the sentence?

a. They have 81 marbles altogether.

b. They have 82 marbles altogether.

c. They have 83 marbles altogether.
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